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APRJC-2012(BiPC) Question Paper

PART - I
; i Q. Booklet D
GENERAL ENGLISH Code

(1-5) Read the following passage. Answer the five questions given below.

Have you ever heard about an animal called the lemming? You'd never see
a lemming in India because it lives only in very cold parts of the world. You
would find lemmings in places like northern Europe, for example, in countries
like Norway and Denmark.

The lemming is not a very handsome animal to look at. Tt is small and
looks rather like a rat. But the lemming of Norway has one strange habit
which makes it very different from a rat, or from any other animal. )

Once in every few years, the lemmings of Norway leave their homes in the
mountains and start travelling. They cross fields and woods and they swim
across streams and rivers, until, after a few months of travelling they reach the
sea. The sea doesn't make them stop. They jump in and start swimming, and
they keep on and on, until, at last, they are so tired that they have to stop
swimming. And then, of course they drown.

1.  Where do lemmings live?

(1) In Pakistan (2) In India _ -
J (3} In very cold countries {4) In very hot countries J
2. - How do lemmings look like?
(1) Like a fish (2) Like a monkey
{3) Like arat (4) Like a cat

8. Which lemmings have a strange habit?
A1} Lemmings of Africa 2) Lemmings of Denmark
(3) Lemmings of India 4) Lemmings of Norway

4. What is the size of a lemming?

(1) Feey tall . V(2 Small
(3) Very small ' : (4) Very big
8. Whe-ure do we find the homes of lemmings?
/(1) Th the mountains (2) On the plains
(3) In seas : {4) In rivers
E-2 (2]
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6. ...(meet) an old friend yesterday.
{:hmsu the correct form of the verb given in the bracket to fill in the I:-lanh
(1) has met (2) wasmet
{3) had met : ﬂ:ﬂ met

7. Kapil used to bowl very fast. The word 'fast’ is used as a/an ...
(1) pronoun {2) noun

q/le] adverb : (4) adjective

8. My grandmother reads ....... Ramayana everyday.
Insert a suitable article.
(1} no article is necessary qffﬂ} the
(3) an (4)

9. Ramesh............ (like) Physics.
Choose the correct form of the verb given in the bracket to fill in the blank.

q/l] likes {2) hasliked
(3) isliking (4) liked
10. Rahul cooks well, ..........7 ,
Choose the appropriate question tag to be inserted in the given blank.
(1} do he? ﬁﬂ]' dl:relsn't he?
(3) does he? {4) . didn't he?

11. The silent letter in the word, 'comb'is.........
(1) o ' (2) ¢
(3) m U(H} b

12, Identify the correctly spelt word.
(1) Aaditarium ﬁﬁ!} Auditorium
(3) Audetorium (4) Auditarium

E.2 (3] | (P.T.0.)
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13. Bahuguna had walked throughout pyral India. y
The opposite of 'rural'is .....oieee.

(1) village (2) town
/(8 urban (4) ety
14. Identify themrraetlyapﬂtwurd.
ﬁl} balance (2) aniversary
(3) independant  {4) conferance

15, BSheis a gpinster school teacher. 'Spinster’ means .......... .
{1} amarried man JZ] an unmarried man
{4

(3) amarried woman )  anunmarried woman

16. All seats are full.
The opposite of ‘full'is .............
(1) half d/liE]' vacant
(3) complete (4) empty

17. Oneshould love......... country.
Choose the correct pronoun to fill in the blank.

(1) our f_{ﬂ) one's
(3) her (4) his -

18. Find the odd word out from the list of four words given below :
chamber, corridor, assembly, balcony

(1) balcony (2) assembly
(8} corridor : (4) chamber
19, Padma played the guitar, ............. 7 .
Choose the appropriate question tag to be inserted in the given blank.
(1) did she? (2) does she?
y/{E] didn't she? (4) don'tshe?

E-2 [4]
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20. Shall we go to a film tomorrow?
The given expression refers to the function of ......ocoees
(1) question (2) help
ﬁﬁ} suggestion (4) invitation

21. Ravi ate many cakes.
me: form of the given sentence is rrsrrsssessninn
(1) Ravi eaten irmny cakes.
V{E} Many cakes were eaten by Ravi.
(3) Many cakes were ate by Ravi.
(4) Many cakes are eaten by Ravi.

22. The Kingstood............. the stag.
Choose the correct preposition to fill in the blank.
(1) besides 142? beside

(3) on @ at
: 8

23. India........(get) independence in 1947.
Choose the correct form of the verb given in the bracket to fill in the blank.

(1) had got (2) is getting
%3.'! got (4) -gets
24. Thesun......... (rise}in the east.
Choose the correct form of the verb given in the bracket to fill in the blank.
(1) isrising (2) rose
(9 rises (4) rise
E = 2 7 {'ﬂ] iy {P—Tlﬂl}
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25. He did his homework by .....co.......
Choose the correct pronoun to fill in the blank.
(1) herself | (2) him
0 himsits - (4) his self

. 26. Find the odd word out from the list of four words given below :
doctor, lawyer, engineer, mu]lar ;

.%1} cooker ' (2) engineer
(3) lawyer (4) doctor

27. Jivan said, "I have read this book."
The reported form of the given sentence is ...
(1) Jivan said that he had read this book.
(2) Jivan said that he has read that book.
(3) Jivan said that I had read this book.
Jq{d.] Jivan said that he had read that book. _ .

28. Ashok is the boldest boy,
* The comparative form of the given sentence is .......
(1) Ashok is bolder than any other boy.
(2) Ashok is boldest than any other boy.
(3) Ashok is more bolder than any other boy.
(4) Ashok is more bold than any other boy.

29. Heis very poor. He cannot buy a car,
The given sentences can be combined a8 ..........0...
(1) As heis poor he bought a car,
_(2) Though he is poor he bought a car.
JE.?.} He is so poor that he cannot buy a car,
(4) Heisso poor but he bought a car.

E-2 [6] i
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30. He plays theviolin ......... concerts.

Choose the correct preposition to fill in the blank.

(1) with (2) to

(3) in ; V{‘ﬂ at
31. Can you show me the way to the bus stand?

The given expression refers to the function of ............

(1} Question (2) Making a suggestion

%3} Seeking information {4) Offering help

32. Sachin has created a new world record in cricket.
Passive form of the given sentenceis........
i1) A new world record had been created by Sachin in cricket.
/(2) A new warld record has been created by Sachin in cricket.
{3} Sachin had been created a new world record in cricket.
(4) Sachin has been created a new world record in cricket,

33. Ra.-ghu raseranea-es (COME) to office tomorrow,
Choose the correct form of the verb given in the bracket to fill in the blank.
(1) ‘will be coming /(2 willcome
(3) comes (4) come

- 34. The Kingis malicious. "Malicious' means............

y/[l} desiring to do harm (2) kind
(3) lovable (4) joyful
35. Which word is pronounced in the same way as ‘battle'?
() bundle V@ rattle
(3) bottle (4} mantle

E.2 | (P.T.0.)
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(36-40) Read the following passage. Focus on the given five blanks, They
represent five questions based on the passage. Questions appear after
the passage.

We took .......... (36) early morning flight to Delhi. ... .. (37) Delhi, we
in a hotel. We ........... (38) the day on sightseeing. The next day, ....... {3:1
went to Agra. Later, we returned ............ (40) Delhi,
36. (1) no article is necessary (21 the
{3) an (4) a
ﬂ'i"ijlll By (2) In
(3) At (4} On
88. (1) hasspent - {2) hadspent
(3) spend '4f(4) spent
39. (L)1 (2) they
(3) us @ we :
40. (1} over ; q'fﬂl to
(3) into | (4) in

Insert a suitable article. : 1 -
(1) noarticle is necessary {2) the
q/fé’r} a (4) an

42, Swathi said to Prasad, "l want to become a software engineer,”
The reported form of the given sentence is .. o
(1) Swathi said that she wanted to he-mme a software engineer.
(2) Swathi told Prasad that he wants to become a software engineer.
,/EEJ Swathi told Pragad that she wanted to become a software engineer.
(4) Swathi said to Prasad that she wanted to become a software en Eineer,

E-2 18]
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43. Gopi.......... (live) in Hyderabad since 1975.
' Choose the correct form of the verb given in the bracket to fill in the blank.

(1) isliving (@ has been living
(3) lived (4) lives '
44. Gopal swam ............ the river.
pose the correct preposition to fill in the blank.
1) across {(2) over

{3) on (4) in 4

45. How do you do?
The given expression refers to the functionof ...........

) an enquiry (2) asking for information
3) agreeting (4} asking a question
48. The silent letter in the word, 'knife'is .........
i ; k
(3) n 4
47, Look, how beautiful she ......... .. (dance),
" Choose the correct form of the verb given in the bracket to fill in the blank.
(1) dances ) wasdancing
{3) danced 4) isdancing

48. ' She is poor. She is honest.
/’l‘hc given sentences can be combined as .......... .
(1) She is poor but she is honest. (2) Because she is poor, she is honest.

(3) She is poor so she is honest. (4) Assheis poor she is honest.
49, The silent letter in the word, 'rumour’is,. ...

(1) first'n' - (2) last'r'

(3) first'r’ . (4) m

50, Mount Everestis......... highest mountain peak in the world.

. Insert a suitable article.
(1) no article is necessary ) an
(3) a . 4) the

E-2 (91 | (P.T.0.)
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51 HIViscarried by ...
(1) food (2) air (3) water /(4) buman blood
(1) es¥ts (2) ™8 (3) He
B52. Spread of STDs and AIDSis............
(1) linked to less than 1% {2) linked to some extent
qﬁ} closely related {4) not atall linked
STD ooy 3e0cin AIDS e 2aly oo
(L 1% ¥om, B3 Sonolic (2) gt loneso &ol
@ ChE Sewabe 6ol (4) Seeefodin

53. The admission of a HIV infected child in a school should be along with the ......

(1) should not be admitted in schools at all
(2) should be admitted in special schools
(3) should not be along with the other normal children
v{ 4) other normal children
HIV 225 et oot Saymd 0pse ..
(1) eites domod® Sux o wmm
(3) B8 ErEres bovsd TEoC @ FOU DI BOCHT:

(1) carbohydrates, sodium (2) fats; copper
" (3) proteins, vitamins (4} ecarbohydrates, iron
Moo fgoted ..
!\E-:-,I{:ﬂ.".ug, Hcisse (2) Eiges, b
(3) Sbsons, Dudsioes (4) meiinpdas, oul
85. Theenergy released by 1 gram of glucose is ..o
(1) 3keal (2) 6keal (3) 5 keal Vo' akeal
(1) 34.3. (2) 624 (3) 6414
E-2 = (101
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56. Biologically complete proteins are proteins from ................
'(1} meat, milk, egg ' (2) rice, mcnt.,'l?utbe.r
(3) al:lrplu, egg, wheat {4} potato, onion, carrot
domlycisem m@ﬁmﬁuﬁm
PO, e K:ﬁg . (2) o, SToie, By
0b6, ogg, Mgt - (4)  woire todes, adabes, s
57. Goitreis due to the deficiency of :
J (1) iodine (2) selenium
(3) zine "(4) calcium
@m D@ uboaSs
(3) 0B |4 fand
58. Recent studies have shown that obesity 18........coiies
(1) infectious Jfﬁ} may be inherited
(3] contageous {4) notinherited
ﬂmmﬂmmmwwm:mﬁuhﬂ
(1) opnd Wihﬁu;’ﬁﬁauﬁn.h
(3) &4 S0l 2508 Fuiooh’ {41 S0 St o T
59. Niacin is vitamin ..., Ense .
v B, (2) By (3) By 4) B,
T = L E T L —— : ;
Dy (2) By 3) By (4) D,
60. Biotinisafan ... e
(1) food substance V‘é] vitamin
(3) excretory substance {4) fat
ARG UGBS e :
(1) esstssorge : DeTaS
(3) DsEsscryo W ey
E.2 (1l (P.T.0.)
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61. Water soluble vitamins are ...................
/(1) thiamin, ascorbic acid, biotin
(2) Riboflavin, cynacobalamin, ealciferol
(3) tocoferol, niacin, pantothinic acid
(4) folic acid, carotene, pyridoxine .
5, 00l etivo, nAAAS  (2) 26205, sauSioensl, Phyod
(3) S50, Doirlol, ofPrenize  (4) P08 ez, 3635, 2085
62. The vitamin that helps in the healing of wounds and fractures of bones is ...

(1) B (2) By, 'V{af' - 4 K
oo Ssesio, D0 Jtule oS snedtn Fud 2l ..........
N ¢ Y A 2 0,, @ ) ) 2
63. The vitamin required for coagulation of blpod is ....... ;
(1 B J2 @ C (4) By
@awﬂiﬁm&ﬁ DU .. .
(1) 8, ((2)2 @ » (4) B
64. Vehicle borne transmitted diseases Lo T—
(1) eyeinfection and influenza - (2) muoamps and common cold
(3) chicken pox and tetanus Qﬁ} plague and malaria
(1) Sodemag, Srestiio (2) D O, moow
(3) ewony, Sowssy @ TG, 2ol
65. Inflammation of lymph vessels and lymph glands results in a disease known as
(1) hepatitis (2) encephalitis
q'(ﬂ] filaria (4) malaria
(1) 2rugah (2) BotoTHRD
@ sond (4)  ssdcn |
E-2 .2 l
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The process in which energy stored in carbohydrates is released is known as'.....

(1) excretion {2) reprod uctiﬁn
JII_H] respiration M;I' photosynthesis

(1) - isgidais (2) Sl .

@rﬂ‘.ﬁ@aﬁ: ' (4) Aeaeiiroddon| S

. Which of the following is released during photosynthesis?

(1) Energy . (2) Light

(8) Carbon dioxide v{i} Ocygen

Sy SOBPNEES S0b TIE D Drixtie eipBiol?

(1) %3 (2) b

@) T5Saens Qo) 5

Respiration differs from combustionin .........

(1) initial supply of oxygen (2) - initial burning of the substance

143} release of heal at several stages  (4)  release of heat at once
vﬁmﬁa@mﬂwﬁ’é@w&@mmw _
(1) eadyee Rosliiarm woldirb (2} Sorgr Sl SwocsTd
ﬁﬁﬁwﬁmmm () e OmAAD S0 uipBsd
69, Cellular respiration takes place inthe ..........

[ %11 mitochondria (2) ll:hlﬂmplm;tﬂ-
(3) nucleus - (4) cytoplasm
' Jn‘.ﬁ.‘rﬂﬁ‘.:}uﬂ
@M“Lﬁﬂﬁ? / @ 386 Jenipoo
(3) oo (4)  seapsee
E-2 [13] (P.T.0)
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70. Cutaneous respiration occursin .........
(1) parrot (2) crab
(3 salamander (4) cockroach
Sty o 306" pitaoed?
(1) Dex - () be
v/ (1) dosrocs (4) Foos .
71. Amphibious animal is a/an ............ -
(1) cockroach V(2. frog
(3) earthworm (4) leech
(1) &gey =
(3) Tedbn . (4) men

72. The cartilagenous rings that support the trachea of man are in the shape of ..

C : D@ .0

@ D “@ J
73. Hemoglobin of blood transports .........
qf{’l} both oxygen and carbon dioxide (2) nitrogen only

-

(8) carbon dioxide only - (4) oxygen only
SRAFDS S .o G
S (2 TeSend

3) g bend () eimbend
74. Phﬂﬂphﬂﬂhnrrhtil;n OCCULS AN vvveeereoes

(1) nucleus %2} chloroplasts

(3) cytoplasm {4} “mitochondria

ToDrrhitios A8 stirtees? -

(1) Sop¥e J@ s sdestos

(3) dusoge (4) Rpsmeaire
E-2 Pe i (14]
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5. Animal without red blood cellsisalan ........ce...

(1) peacock (2) snake
3) earthworm (4) frog
T LT T ——

(1) =58 (2) S5
@

78, In a cockroach, the muscles that help in sending the blood into the heart are

(1) bronchial muscles (2 alary muscles
(3) cardiac muscles " (4) tracheal muscles
B'nost’ iy dmtsatie 6 Heond radl ...,
(1) ataind ¥oloves i/ @ ST el
(3) Smiclh Solioren (4) ey Soloe:
77. ' Athirteen chambered heart occursin ............ .
(1) snail . : /112} cockroach
(3) earthworm ~(4) leech
13 Mo KRS0 50> BIOBORY «oeresrsiens
1) @) o3
(3) udww (4)  meX
78. Heart attack is caused by the blocking of the .........
(1} pulmonary vein (2) coronary vein
J{ﬂ} coronary artery (4) pulmonary artery
B8 wggonindd rosl s Hegitiayed?

(1

!

Sstnatt ot (2)  EmySclalbs

@I M &5 (4) Sbesomed
79. Blood pressure is measured by @ v
(1) Thermometer (2) Barometer
%3] Sphygmomanometer (4) galvanometer
(1), Hommoeb @ ihont
ok (4) moFions
E-2 [15] (P.T.0.)
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B0. Human right auricle receives.............
/(1) deoxygenated blood (2) mixed blood
(3) lymph (4) oxygenated blood
LIS o (2) Dogsss B¥o
(3) Bapisise : (4)  esoad Snd do
BL. Bicuspid valve allows blood to flow from ................
q/{ll left auricle to left ventricle © . (2) left ventricle to right ventricle

(3) left auricle to right ventricle (4)

right auricle to right ventricle

DS 0 Sood Mol w0y :

38 50N o0 Yol w0y
B2, The total salt content in blood is about ............... :
0.85 0.9 (2) 2.85-29
(3) 11.85~-11.9 (4) 1.85-19
83. Multilobed nucleus is present in the following blood cells.
(1) Basophil (2) Monocyte
(3) Neutrophil (4" Acidophil
el B Yo Sotiio 5o B0 ... e
@ s
(4) ShERE
(1) 15 to 20 days V{E]I 12 to 13 days
(3) 10 to 12 days (4 14to 15 days
(1) 1520 Fere / 1213 Gares
(3) 10-12 Seren (4) 14-15 Geren
E-2 (el
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k5. Karl Landsteiner discovered ..ooeneanss
(1) proteins in bloed (2) blood vessels
VI{S} blood groups * {4) blood corpuscles
ts5 ol BB oviisnienns
(1) s3eb’h Sde (2) Sooes
@? oy soree (4) Gyeres
86, Ifaterminal bud of a plant is removed, then the ...
(1) roots do not develop . (2) plant increases in he;ght
/m}' lateral branches grow (4) plant grows toa numal height
(1) S wfipl Doy (2) B, et 0 Deticioed
@- e T Dborow (4) Dol BrTaTeaT JOgh RENLECD
87. Disbetes mollitus is caused due to the deficiency of ..o
V(1) insulin (2) glucagon
(3) oestrogen : H.‘J testosterone
R =) @) KpomS
(3 Gyun {4) ool
88, Thehormone that helps in the implantation of embryois ...
q/l'.ll progesterone _ (2) :m:rlact-ln
(3) insulin (4) testosterone
T = SRR TR R R, s O :
V@ SR ELo . (2) Seds
(3) 05 ' (4) o¥hos
E-2 | 17 (P.T.0)
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B8, The structures in the body that act as wires of a telephone are ..........ccoo.......
ﬁl} nerves (2) muscle fibers
(3) arteries (4) weins
v @?ﬁm | (2) * Hotit botiipe
(3) Fsiowms (4) Cabes
90. Cranial nerve that controls the heartbeatis ...
Vi Vagus (2) Aorta
{(3) Postcaval (4) Precaval
_ i (2) Sereon
(3) St (4) Wt

91. The box like structure made up ofbones which gives protection to the brain is

(1) pericardial cavity yfz;r cranium i
+ (3) abdominal cavity . (4) thoracic cavity
To2eialts s 37 DiJerosd Doyrtios, JHasle 5 DEES ..
(1) SmBairsdes Samiiios f Boreoo
(3) &ub Etptaw (4) &5 muntias
92. The structure that passes through the vertebral column and controls reflex
actiongsisthe............coueres
(1) medulla oblongata % 2) spinal cord
(8) central cortex . (4) diencephalon
(1) Sorpsasgse 2w s
(3) el Soyeo ) oo
E-2 [18]
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98, Theorgan in the body that has an aesthetic sense to appreciate poetry is the ...
(1) pitu ita;rjr . V{Ei brain '
(3) kidney ~ (4) heart
(1) bakarigied V@) 2sses
(3) Sorpbote (4) Dmscioe

94. Differentiation of callus tissue into different parts in the tissue culture _ .
method is on a&mtufﬂ‘m choice of ..cusmesecsscenes
(1) - tissue selection from the parent p]a.nt
. (2) containers used for this purpose
4{3} plant growth subst:anuu-s in the medium
{4) cells from the parent plant
o 350 55061 el ool D0 mes D D3 IO .
(1) ey ook, ood Jebudis ¥eeros :
@) s BSOS SSRGS Jobadis sosoves
v @;mm ESErRe Jehaling Do diepIes
(4) w99 ooty ood Jeby B0 Brren
85, Root part is represented in a matureembryobythe ... ..o,

(1) cotyledons (2) :ﬁn'la.m
4{3} radicle (4) plumule
(1) BHetoes (2) o

J @E&ﬁ:m (4) D Toliin
E-2 ; (19) _ ®.1.0)
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96. When both the male and female sex organs are present in the same animal,

the phenomenon is called .........ocoveneee ;

(1) unisexualism (2) secondary sexual characters
3 hermaphroditism '(4)  sexual dimorphism

23 eolioiphipuon, 1 (T3 GHCTPes Dot Aol O e

(1) Dsgonys (2) &b Bl expmes

- /@mw (4) Bon¥ Bess

97. The nucleus of paramoecium that is responsible for vegetative function is.......

(1) macronucleus o (2) stationary pronucleus
(3} migratory nucleus {4) micronucleus
J Ao ot @) 5 e
(3) @Soms S omeme (4) 5o Sozesa
88. The sperm mother cells in an earthworm mature into spermatozoainthe ........
(1) seminal vesiclos V(@ testes
(3) spermatheca " (4) vasdeferens
FrSs L rres A0 latrresm; NOLITROR rerresnsrans
(1) sxgdlics e
(3) wEminses M) moiey

99, Number of ova released at a time in female human beings is .........o..........

1 ; (2) 2 (3) 3 (4) 4

100, 1scaused by & ....ceneneieniionns

(1) protozoan (2)  fungus

(3) bacterium '/{-ﬂ virus

AIDS:o ¥bhoio dD ... :

1) Ssens (2) sbosss

(3) wioar : @) s
E-2 [20]
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hol. Nylon6, 6 isused in .......ccoorvesnnss
q/m making bristles of brushes (2) making gramophone records
(3) making insulators (4) making raincoats
P e R T S T—
(1) 150 Sesotsy Basr (2) S5 omases sad
(3) busdwolpeobaind (4) S5y S bard
102. The nﬁml:-ar of carbons present in the mixture of hﬁtﬂtﬂl"}ﬂﬂﬂ prezent in
petTolis ..oecisiinnisisnsanns
(1) more than 156- . (2) 10to 16
(8) 1to3 V4 50
dSfass® ach 1ERIES © Dogioe 5% TtH 50 DA Bot30R wervsresresenses
(1) 15 ¥edd Jun2 (2) 103e& 15
(3) 1aes 3, . ﬁd) Gl
103. The quantum number that explains the orientation of electrons in orbitals is
v :
(1) Spin quantum number ./[21 Magnetic quantum number
(3) Azimuthal quantum number (4) Principal quantum number
(1) In5 oo sony (2) wdlyobIpne
(3) e mpouoton; (4) PR Ty Sog
104. The weight of oxalic acid required to prepare a 100 ml, 0.1 M oxalic acid
solution is........... ' y
_q'(l'l 1.26 gms (2) 2.52gms
(3) 1.06 gms _(4) 0.4gms .
100 Bo.b.0 0.1 M amntae Sairts Seiaestls Pl wmnDats e .
VU 126 g, @ 252
(3) 1.06 . (@) 04w
E-2 = (P.T.0.)
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105. Which of the following is true for amino acids?
j 1) They are covalent substances (2) They are ionic substances

(3) Do not digsolve in water (4) Melting point is very less
a@s‘mwﬁm s
/1} T Sodlrel Songes _ (2) 30 odnlEsooe
(3) 59 Mt sen (4) | ol S0 Ae o Bl
106. Bromine.........ccoveemeserenss ~

(1) does not have electron affinity

(2) does not dissolve in water

(3) participates in substitute reactions uluwl;r
ﬁdl is an alkali earth metal

AR L ’ _
(1) Wmaa‘n&mm ' (2) D&% mao
(3) Soise SGes MNnm SEouscd Vi DS 550 i

107. In an ideal transformer, the number of turnings in primary and secondary
~ coils are 100 and 300, If the current in the primary coil is 2 amperes, then the
current in secondary coil is.........c.ocevenvesiven
(1) 6 Amp V(2 0.66Amp -

(3 1/6 Amp (4) 1.5 Amp

H%W@%ﬁ.m@mﬂmwmmﬂ,m.mw
% Dlistraminie 2 esebatol eons Mes St 6% 28 -oias .,
(1) Bes V@ 086us

(3) LI"EHQ_ (4) 15wo

E-2 [122)
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08. In an experiment of finding the diameter of a lead shot, a screw gauge with a
least count of 0.001 ¢m is used. The pitch scale and head scale readings are
found to be 1.8 em and 20 respectively. Then the radius of lead shot is .........
(Error free serew gauge is used).

0,001 o.2a. EhSH Pt SO 57, Vel d3@rlel Mkt Mookl myse Xioftis sdlmtsané®
uSy6 8&of, Bod, e Baofics Stum 1.8 o.bo., 20 m oo, sowd by ot
Ty (Ehs ot s, i ABaP o s
(1) 1.82 mm (2) 0.91 mm

(3) 182cm 4 091cm

§108. Generally, the orbital velocity of an artificial satelliteis ..................

) nearly zerp (2} =11 kmfsec
3) <8 km/fsec (4) 8kmfsecto 11 km/sec
ertieaoim G0 AN M B v, : '
jl} = SRS (2) >1135.3./%. .
(3) <8 &2a./n. (4) 8350, /3. 00 11 4.5, /5.
110. In ardinary light, 'optical noise' is because of ..........
(1) lack of coherence. (2) monochromacity
{3) high intensity (4) coherence
Sgatien PoBE' L8 B 308 550 508 DTS «.ov e
ﬂ 1) esiSoelt (2) Dysoci:s
(3) whsbeo (4) Sewds
111. Mass defect of helium nucleus is .............
oo oo Dk, 508 S50 e
(1) 0.137 amu V’EE} 0.0304 amu’
(3) 4.0026 amu (4} 4.0330 amu
112, In a television receiver, channel selector means LT S
(1} receiving antenna 1 demodulator
(3) amplifier (4) resonating cireuit
(1) iy wolm (2) curpesdnb
(3) Sposoe 9 gosease
E-2 (23] (P.T.0.)
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113. The elements with electronic configuration 'ns' tons? np® are ...
1) inner transition elements {2) transition elements
(3) representative elements {4) inert pases
'ns! Rood ns? npPotE Jo PR DTEaG SO SPUTE ..,
(1} esobhd SONG: SoreTe (2) S0HE SareTe
ﬁ] ErO SareTeY (4) el oroduipes
114. When phosphorous pentoxide is dissolved in water, it produces .............
(1) phosphorous trichloride } phosphine
(3) phosphorous acid ﬁ‘l phosphoric acid
(1) Prsel sioes @ S
(3) el wise V0 e
115. 'Tollens' test' is the characteristic property of .............
(1) ketone ) ) ester
(3) ether - _ - y&} aldehyde
0T, S8 B B S5 cerrsrinn
(1) 3% (2) S,
(3) gt SO et

116. The substance added to glass to impart apurple colour ...
el Beorlell Sl Sulilelt) WF@}

-

(1) MnO, (@) Cu,0

(3) AuCiy (4) Cry0y

117, The............... aqueous solution do not eontainsions.
(1) CuSO, solution &'2)  Sucrose solution
(3) NHOH solution : (4) NaClsolution
eoioes Gols) B PN,
(1) CuSO, ze oo J{E} 958 po et
(3) NH,OH wo ot (4) NaCl ge mhbesks

118. 1 Gauss=............ Tesla
L TT S
(1) 104 q’fm 104
(3) 0.39x 10 (4) 0,39 = 104

E-2 ‘ [24]
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119, BP" —— 58I+ .eieinens

) gammaray (2)
3) positron (4)
(1) ™o 3teso (2)

Q. Booklet
sl

beta particle

electron

> See

e 3;5

120, The time period and length of a 'seconds pendulum’ respactivel}r_am
‘ oo oo, Sleamolis oo, PEQes DU .corrnnesss

(1) -2 sec, 100 em (2)
(3) 2m, 100 sec (4)
121. 1 Lumen =......cces _
(1) erglsec/steradian/candella )
(3) erg/sec/candella (4)
(1) /uuS/plaans/rode (2)
(3) SB[/ mola qffan
122, urvalue of softiron is.........
ol 508500 D0, M DU cvvvuerisens ‘(
(1) s1 2)
(3) »1 - (4)

128. In the Periodic Table,. .............

' 2sec, 1 cm
2 cm, 100 sec

ergl/sec/steradian
erg/sec

/5 easS
2B/

e |
=1

{1) right side elements are strong reducing reagents
(2) right side elements are weak m:idn:mgmgmta
) left side elements are strong nuidizfmg reagents
4) left side elements are strong reducing reagents

(1) BA3e Ke Suromas possh Joktnas
(2) M3 N Saremes polnd ed it
(3) Desio g Mo Haremes R wd e
qf(ﬂ Do P Ko Baremes wells Fbitnses

E-2 [25]
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124. Correct order for electron ﬁl‘ﬁnjty of halogens is .....ceeevecee

(1) F<Cl<Br<I 2) Cl<F<Br<I
(3) F>Cl>Br>1I @ Cl>F>Br>l
125, 10% sodium chloride solution means .................. .
) 10 gram NaCl, 50 ml water (2) 10 gram NaC{, 10 ml water
3) 10 gram NaCl, 100 m] water (4) 10 gram NaCl, 90 ml water

(1) 10 grisece Adcie 52, 50 So.b. St

) 10 grsace daice 52, 10 So.b. hes
(3) 10 gesose ¥dcne B, 100 2e.b. B
(4) 10 price Fdabe 52, 90 2.0, D

128. Which of the following do not have a = bond?
o P 1 wetta Bo?

1) BeF, (2) €O,
127. Identify the substance which is not ionic, 3
D SO TR,
(1) BeCl, 2) CaCl,
(3) MgCl, (4) BaCl,

1ﬁ. The correct equation of motion in case of a body projected upwards is ...
{initial velocity «, final velocity v, acceleration g, time ¢, maximum height k).

DA D035 S5 DRoNbed! TN el BRNTEIR0 e

(6% oo w, ol Bisos v, Brsias g, P £, MR8 A )
(1) vé=2gh qﬁ} h =Ygt
(8) u=gt (4) v=gt

128, In progressive waves with equal amplitudes, the distance between first and.
fourth crest is 60 em. The wavelength of the wave is..........

5 Youlid BOTotons Mo 1 HEPEe Beled’ Tatidd, Peans emme Hajy KA
60 De.Do. Leass  Btelio Sac), BUCH DR e,
(1) 60em (2) 30 em V(3 20em (4) 15em

E-2 [26]
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130. In a uniform circular motion, the following remains constant.
) radius (b} ungu'lur velocity (c) time period
1} (a), (b) and (¢) are constant (2) only(a), (c) are constant
(3) only(b), (c) are constant (4) only (a), (b) are constant
mwmﬁuﬁ‘;ﬁmm.
(b) Erdalic it (0) e e
fl {al, (b), Iclmmi&u (2)  (a), {e) e SmBds S
(3) (b, (o) oo SomEiss ks (4)  (a), (b) oo Srita ot

181. The ratio of amalarat.um due to gravity on the surface of carth and moon is

wm;ugmmmgmmmﬁmw ,,,,,,,,,,,,,,,,,,,,
(L 3:1 2) 1:3
(3) 16 _ 4) 6:1

132. Revolutions per minute of a wheel is 1200, If the wheel travels 3000 m in
5 minutes, then the distance travelled by the wheel for one revolution is ...........
1) 4m (2) 2m
(3). 14 m . {4) 1lm

L e D:203 1200 iseres 20, 5 oo Siabed' B 3000 L. Boirdy

(1) 43 - @ 250 ¢ 2 Yo
VORAY @ 15w ¢ 9"

. . ':...""
183, False statement about p orbital i8 ....ccoovevinece. "h}*

(1) p orbitals lies on three axes depending on ﬂl'iﬁntntmn

(2) Iwalue for p orbital is 1 .
} p orbital is present from L shell

{4) energy of subshells of p orbital is same in presence of magnetic field
p elarh B ieradod Dutin TR ...

(1 p wwgm&m urﬁ-‘m

(2) pebprSidessl

(3) I meyumos Soed p efprbes doiro

) e ot fise aiipts p B, G335 K0 ¥ S,

E-2 - [27 | : (P.T.0.)
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134. During the electrolytic reduction of MgCl,, coal gas is passed over floating
agnesium. The reason for thisis ......

1) to prevent oxidation

{2) toincrease reduction and oxidation

(3) to prevent reduction

(4) toremoveimpurities

MgCl, Db Batatirsass & sty Rofphytivo B ol 56 oratiaigpiis Sebiotiont T
1) ed¥tine Sooction

(2) goodtirme, wdistine PRomrcioe 4

(3) gcka¥Gese Serlotionid

(4) Sabmren Folotoni

1385. Example for the triple bond moleculeis .............

JEIJ CiH, : (2) CO,
(3) HO . 4 0, .

136. If the lids of the bottles A, B, C are opened, the acid in B vapourizes quickly.
The acid in A vapourizes very B]u-wl;.r and in C it vapnunze-a slowly. Then ﬂ‘tﬂ
acids presentin A, B, Care ...

A B, Cmmmammmmwﬂmmwm
C &% wisse 0w udd wand A, B, C of' dcto wiipen ...

v CH,COOH, HCI, H,S0, (2 Hc, CHECDDH. H,S0,

(3) H,SO0, HCI, CH,COOH (4) H,S0,,CH,COOH, HCI

87. One of the following substances which ig not an aliphatic hydrocarbon is ...........
(1) Ethane (2) Benzene
{3) Propane ; (4) Ethylene
RS UL ST TS T
(1) weg5 V2 o5
(3) o5 (4) 75d5

E-2 [28] . 2
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138. Half-life period of a radioactive substance is 5730 years, Time required by
it to become 1/16% of its initial massis ............

y 22920 years (2) 28650 years
(3) 17190 years (4) 11460 years
L EAT 0¥ Sory LUDS Too 5730 Bt ) H0 Eoast 1/16: ot ewtt
V1) 229203500 (2) 28650 Hon
(3) 17190 3o (4) 11460 izn

139. The atom to be doped into Germanium atoms to form a P-type semiconductor

1) Phosphorous - (2) Silicon
%3} Indium (4) Antimony
P-gSo egmirss Sttt Bndio SohrTipet Srlitine Sdtleln SRrryes
1) s . (2) 58S
JEJ geddie (4)  eodtosd
140, If the length and area of a cross section of a copper wire are doubled, then its
pecifie resistance .............
(1) remains constant '3) decreases to 1/4%
(3) increases four times (4) increases twotimes

& sairtodia O SEpe et Prees Tudep Thnpas & bt @k, 23,
(1), oo (2) 145 Sotss i3
(3) wresil D Disiei (4) ToksTes B

141. A wire of resistance R is cut into 5 equal parts and then the pm"t-s. are
connected in series, The resultant resistance is ............ :

R 06%s lio .5 8fcss 5 stogrmesm Dtidon wdn Bt sbispco o 306 28w .......

wm 2 : J@ R
5

25

(3) BR (4) R
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142. Which of the following is used as an application of coating of gold on brass metal?
1} Ampere's law {2) = Fleming's right hand rule
d) Faraday's law of eleetrolysis {4) Fleming's left hand rule

#&mgmwmgmmuumq

j” esobaoh Doteisiss (2)  Ooch HAI0 Duetss
3) oah Dashaies Do (4)  Foooh deio 38 Duois
143. The valency band of a semiconductor is completely filled with electrons
at this temperature, .
G &I 5 eUTrind™) Sedirey 3y Jogiond! Yrom Ned deues.
%Ll} 100 K (2) 273K
3) =273°%C (4) 273°C
'144. “}{Po belongs to this radioactive series.
(1) Actino Uranium series /(2 Uranium series
{3) Thorium series (4} Neptunium series
T Po Sarebiic oS Skl Brtd SonaloDnn. :
(1) esdF avadinctioe ded q(:?:l ciaclhcise Bed
(3) Foawe@d (4) qpyicice ded

145. Correct arder of electromagnetic waves with respect to wavelengthsis...........
1) Infrared > Ultraviolet>X> ¥y (2) Infrared>X> ¥ > Ultraviolet
(3) Infrared > ¥ > X > Ultraviclet (4) Infrared > X > Ultraviolet > ¥

q(l} Sortors > wdne Sirb > 26 > mEar  (2)  Sotes > 05 > i > wbbe &b

(3} Sortors >mar > 35, > wblo &irs  (4) Sotors > 35 > eabe e > ma»

146. _"Ampere-ﬂ‘ieterz" i the unit for .........c..ns

1) magnetic susceptibility : (2) intensity of magnetization
(3) magnetic moment (4) - pole strength
Hesoliotob-DoebT B3 RPERS uursssnees
jll i eb SRp0oY (2)  wandmodite SEp
(3) coctinde a2 gisatiin (4} SHPSe '
E.-2 o [30]
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147. Find the true statement :
(1) mass of the substance depends on g’
(2) 'g' value on the sun is less than g’ value on the moon
) At aheight equal to the radius of earth, g =0
4) At the center of the earth, weight of the substance =0
ot &t Sipa ¢
(1) S Sen® g Desl B esgrRitans
(2) Arp g’ Deud Doliel g Dosd Yokl BiyS
(3) Gr ompeiiiioniat SEPHL Mo SE g =0
qﬁ} g Sogsisan 9 sy grtise = 0
148. Deodorant soaps contain .........eees.
{1} freestearic acid } Na*salt
(3) K*salt 4) 3,4, 5 tribromo salicylanilide
Boorgses Slolots Meagyen BB GodisB ... |
(1) Hoomy oot eigsos (2) Na* esesin
(3) K* esensn Vﬁ] 3,4,5 *-':".'*-ﬁl:"' >OndIpes

148, Chromophore in @—N=N—@—NHE iE :
' @-H:N—@—ﬁﬂz U

(1) —NH, Y@ N=N

(3) _@_ NH, : {4) @_N
150, OH This structure indicates the ........cco e
jl‘.r Aspirin
: 2) Paracetamol
(3) Brufen
{4) Insulin

L wihyraae S et S N %

(1) DnS
2 Sobians

(3) s
(4) #andS

E-2 [31] (P.T.0.)

NH C-CHy
0
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